Limits

(Dick p. 110) The two functions f and g have graphs as shown above. Fill out the table for the defined function
h(x) in exercises 1-8 and complete the graph for h(x) in exercises 3-8 on the given axes over the interval [-3, 3].

Input | Output Lelftirz?tnd ngl_hitmr:?nd Limit Is h(x)
x=a | @) | jimn(x) | limh(x) | imN0o | RS
Xx—a~ x—a* e atx=a?
-3
-2
-1
0
1
2
3
2 h(x)=g(x)
Input | Output Lelftirz?tnd ngl_hitmr:?nd Limit Is h(x)
x=a| @) | jimn(x) | limh(x) | im00 | RS
Xx—a~ x—a* . atx=a?
-3
-2
-1
0
1
2
3
1
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Limits

y
1
5
1
Left-hand Right-hand
X=a h(a) XILT h(x) JLT h(x) IXLma h(x) Is h(x) continuous at x = a?
-3
-2
-1
0
1
2
3
4 h(x)=f(x)-g(x)
JI.}'I
1
5
1
Left-hand Right-hand
Input Output _Limit _Limit _Limit
X=a h( ) XILTh(X) XILTh(X) leLr;h(x) Is h(x) continuous at x = a?
-3
-2
-1
0
1
2
3
2
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Limits

JI-),
1
5
1
Left-hand Right-hand

X=a h( ) XILTh(X) JLTh(X) leinah(x) Is h(x) continuous at x = a?

-3

-2

-1

0

1

2

3
6. h(x)=2-f(x)

JI.}'I
1
5
1
Left-hand Right-hand

Input Output _Limit _Limit _Limit
X=a h(a) XILT h(x) XILT h(x) IXILT; h(x) Is h(x) continuous at x = a?

-3

-2

-1

0

1

2

3

3
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Limits

y
1
5
1
Left-hand Right-hand
X=a h(a) XILT h(x) JLT h(x) IXLma h(x) Is h(x) continuous at x = a?
-3
-2
-1
0
1
2
3
8. h(x)=g(f(x)
JI.}'I
1
5
1
Left-hand Right-hand
Input Output _Limit _Limit _Limit
X=a h( ) XILTh(X) XILTh(X) leLr;h(x) Is h(x) continuous at x = a?
-3
-2
-1
0
1
2
3
4
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